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1 Introduction 
In RAN3#66, the mobility settings change procedure has already been agreed for the MLB Use Case.

MLB is useful to improve the system capacity by distributing cell load evenly among cells or by transferring part of the traffic from congested cells. To make MLB work properly, some issues should be clarified. This paper addresses some issues about the mobility settings change procedure in MLB which are left in R9.

2 Discussion
In [1] the mobility settings change procedure is described；
“Successful Operation
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Figure 8.3.8.2-1: Mobility Settings Change, successful operation 

The procedure is initiated with a MOBILITY CHANGE REQUEST message sent from eNB1 to eNB2. 

Upon receipt, eNB2 shall evaluate if the proposed eNB2 handover trigger modification may be accepted. If eNB2 is able to successfully complete the request it shall reply with MOBILITY CHANGE ACKNOWLEDGE. ”
The source eNB may initiate the mobility settings change procedure to distribute cell load evenly among cells. The source eNB informs the target eNB about the proposed new mobility setting for the target cells. The source cell should consider the responses from the target eNB before execute the planned change of its mobility setting.

According to the current description, the following issues are raised:
Issue 1：The abnormal conditions need to be considered.
If the second message is lost, how could the source eNB do? When the MOBILITY CHANGE ACKNOWLEDGE message is lost, the proposed the mobility settings change has become effective in the target cell.  The source cell did not know this situation and the mobility setting of the source cell has not change yet. It will lead to the “asynchronous” mobility settings between the target cell and the source cell. The ping pang handovers or too late handovers may occur. It is important to ensure the execution of the new mobility parameters is synchronized between the source side and the target side.
Another abnormal condition is that if the source eNB resends the MOBILITY CHANGE REQUEST message to the target eNB for the same target cell, how could the target eNB distinguish whether it is a new mobility parameter change request or just a repetition? This is also a problem needs to be resolved. 
Issue 2：The Handover Trigger needs to be relative to the concrete event
In [2],” The proposed change is expressed by the means of the difference (delta) between the current and the new values of the handover trigger. The handover trigger is the cell specific offset that corresponds to the threshold at which a cell initializes the handover preparation procedure.”
According to the above description, the handover trigger can be the cell specific offset of the Event A3 when the handover algorithm based on the Event A3.
“Inequality A3-1 (Entering condition)
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However in some case the Event A5 is also can be used in the handover decision, what does the handover trigger mean in this case? For example, if Cell1 uses Event A3 for the handover decision, Cell2 uses EventA5 for the handover decision, which means the target cell2 will not know whether the handover trigger change is relative to Event A3 in the source cell1 or not, then the modification in the target cell2 will be hard to be decided how to modify the handover trigger in case of Event A5. 
The Event A5 formula is described in [3]: 
“Inequality A5-1 (Entering condition 1)
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Inequality A5-2 (Entering condition 2)
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                                   Figure 1    the A3 and A5 event description
We set the threshold of (Mn-Ms) in the A3 is equal to the value in the A5. In figure 1, the blue line represents the signal strength of the cell1and the red line represents the signal strength of the cell2, the event A3 is satisfied at the point C1, but only at the C2 point the event A5 is triggered.
The threshold at which a cell initializes the handover preparation procedure will be expressed differently with the different measurement Event. 
Proposal: The above issues need to be discussed and identified in RAN3, in order to complete the MLB works by sharing the common understanding of the MLB principles. 
3 Conclusion 
We propose to discuss the above MLB issues in RAN3 within the scope of R10 SON. 
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